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GROUP-A / et

1. Answer any five questions from the following; 25 = 10

Product (NNP)?
T TR Sesw (GNP) @k 5 (NNP) w181y Bestiier T AL 5 9
(b) Define marginal propensity to consume (MPQC).

2N (o1t eierota (MPC) ket |
(¢) Calculate the value of the multiplier if the value of marginal propensity to save

(MPS) is 0.5.
3fwt e 767 2ere1a (MPS) W1 0.5 27, oiege] QI M T (T 9

(d) What is the difference between capital and investment?
T4 8 fRfecaicata sy =i f o

(e) What is secondary deposit?
Tg© o 9

(f) What is meant by Open Market Operation?
C4IeTl AR FIIE FeT00 (& @I 2 2

(g) What is deflation?
TR fF 7

(h) Define exchange rate.

SlEtERCERINCI RN

(i) What do you mean by the term ‘full employment™
ol RfAcaICRr o <eice 4 icall 2

(j) What is progressive tax?
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Answer Quesfi GROUP-B / fet1-4
uestion No. 11 and any fwo questions from the following

et N 5 T e qae formfafir r-cattan 7f6 et S@A IO
efine Nati Do
onal Income. Explain the concept of circular flow of national income.
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3. (a) Discu -
' S e . ‘ . . , ..
s the relation between consumption function and the saving function in @

Simple Keynesian model.
R RORFN ST (919] Loy @ 4] WA 0 A~I<T5 ol el

(b) Discuss the major factors determining the Keynesian consumption function.
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What is ‘Say’s’ Law of Market. What are the main economic implications of

Say’s law?
o7 At o 6 ¢ ‘7 @ R 2l oo wlerd & 7

What is multiplier? Mention the assumptions of the multiplier theory. How do we

determine multiplier?

@me?@ﬂswwﬁ@ﬁwzrmn ey I Frica frd@e & T 2
ity of an asset? Explain the Cambridge version of

What do you mean by liquid
ow does this version differ from Fisher’s version of

Quantity Theory of Money. H

Quantity Theory of Money?
mwmmﬁs@mn?@mﬂ?@m@@m@@wawﬁwﬂml a3
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Discuss the process of credit control by the Central bank in an economy.

@6 a3t adAifore ety Qyica el fmae i S Sl

¢ debt. Explain the economic effects of public debt.

Define publi
FeIRpe! TACE STl Sl

1A A TG TS| rapid) et wrafo® e

Define inflationary gap- Explain the nature and causes of demand pull and cost

push inflation.
rieq T @ RS 19| pifw qaGiee 9K p-qfaate Jarifod eFfo 8 I
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trade. Discuss the basic

and disadvantages of free
lute Cost Advantage” and

n Smith’s theory of “Abso
arative Cost Advantage”.

Discuss the advantages
differences between Adar

Ricardo’s theory of “Comp
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